RSR-ZM#

(B)

W L W L
4-Sx¢
B L1 B 4-Sx{ L1
gd C c
N sd2 #d2
T| h i HH T 1 NI H HH
M T (K) j K
bre Ho v | . it “ e M " S i =
J @ di L 3 5 L i
Wa2| Wi F wal Wi E
RSR7~12ZMf¥ RSR15ZM#
B mm
LASIAIRA LMZJOw o5& LMU—)UFE BEAEREE| BHNFSE—XYEKN-m* 85 =
) | _ _ Ma Ms M
HUORE |Bc| B RS GER| Hy—2 18 BE|EyF R&*| C | Co M e A\ (M73YS | LML=
—wIIL = 7
M|w|L|B|Cc| sxt |L|T|K|[N|E]|d Hs W, | Wa | M| F | dixdexh | Max | kN [ kN | 118 |2BZ%| 18 |[2B==| 18 | kg | kg/m
RSR 7ZM 8 | 17 [23.4| 12| 8 | M2x25 |132[34|65|16| — | 1.5 — 15 7_802 5 [ 47| 15 [24x42x23| 300 |0.88[1.37|2.93]|20.7|2.93|20.7| 5 |0.008| 0.23
RSR9ZM | 10 | 20 [30.8| 15 | 10 | M3x2.7 |19.4| 46| 78|24 | — | 1.6 — 22 9_802 55|55 20 |3.5x6x3.3| 1000 [1.47|2.25|7.34 | 43 |7.34| 43 [10.4| 0014 | 0.32
RSR 12zZM | 13 | 27 | 35 | 20 | 15 | M3x3.2 |20.4| 45 |106| 3.1 | — | 2 — |24 12 _8025 75|75 25 |3.5x6x4.5| 1340 [2.65(4.02| 11.4 | 74.9|10.1 |67.7|19.2| 0.028 | 0.58
RSR 15ZM | 16 | 32 | 43 | 25 | 20 | M3x3.5 |26.5| 55 |12.6| 29 | 36| — | PB107 |34 15 _8025 85|95 | 40 |3.5x6x4.5| 1430 [4.41|6.57|23.7 | 149 | 21.1 | 135 [ 38.8| 0.05 | 0.925
HLMITOY 2 LML—)U R—ILOREICZT Y L 2 ZFER LTV DT, e, MEEMICENTNET, B RS REMaxid LMU—LOBERARS ZRLET. (B11-274 BK)
BWFEE—AY RN B LMIOv 2 HECSI BHNFEE—X Ma
FURZEDERS] 2MEFE LM T O w & %= 2B LIt REE C OB RE— XY ME
2 RSR15ZM UU C1 +230L P M -1
- 1 I -1 T
O E RAEEFS LMU—ILES  |[LMU—LH | B—FmE(c
ER=1C3)) (mmZ*ER) AFVVAM | ERENS
18ITHEADED SYPIIEFRSH) | RHEES o)
LMTOvo DfE#s £ (H:8)/BFE(C) FAEEDS (¢3)
MR (WES)/ LR (H) /2R (P)
(x1)MI-510FERASR) SR (x2)A1-7188 (x3)A1-8381 (%4)A1-1381
) COFORER 81y hTlsets LET. QUTHTHRADEADLENE . BiE2setE B £7.)
BN1-270 X = LS https://tech.thk.com &S TV 3V=>M1-473 TEX B1-271




